
ВАРИАНТ 4 

 

1. Упростите выражение: 

1) FHRTDFHKDKTR  ; 

 

Решение 

𝑇𝑅⃗⃗⃗⃗  ⃗ − 𝐷𝐾⃗⃗⃗⃗⃗⃗ + 𝐻𝐾⃗⃗⃗⃗⃗⃗ + 𝐷𝐹⃗⃗⃗⃗  ⃗ − 𝑅𝑇⃗⃗⃗⃗  ⃗ + 𝐹𝐻⃗⃗ ⃗⃗  ⃗ = (𝑇𝑅⃗⃗⃗⃗  ⃗ − 𝑅𝑇⃗⃗⃗⃗  ⃗) + 𝐻𝐾⃗⃗⃗⃗⃗⃗ − 𝐷𝐾⃗⃗⃗⃗⃗⃗ + (𝐷𝐹⃗⃗⃗⃗  ⃗ + 𝐹𝐻⃗⃗ ⃗⃗  ⃗)

= (𝑇𝑅⃗⃗⃗⃗  ⃗ + 𝑇𝑅⃗⃗⃗⃗  ⃗) + 𝐻𝐾⃗⃗⃗⃗⃗⃗ − 𝐷𝐾⃗⃗⃗⃗⃗⃗ + 𝐷𝐻⃗⃗⃗⃗⃗⃗ = 2𝑇𝑅⃗⃗⃗⃗  ⃗ + 𝐻𝐾⃗⃗⃗⃗⃗⃗ + (𝐷𝐻⃗⃗⃗⃗⃗⃗ − 𝐷𝐾⃗⃗⃗⃗⃗⃗ )

= 2𝑇𝑅⃗⃗⃗⃗  ⃗ + 𝐻𝐾⃗⃗⃗⃗⃗⃗ + 𝐾𝐻⃗⃗⃗⃗⃗⃗ = 2𝑇𝑅⃗⃗⃗⃗  ⃗ + 𝐻𝐾⃗⃗⃗⃗⃗⃗ − 𝐻𝐾⃗⃗⃗⃗⃗⃗ = 𝟐𝑻𝑹⃗⃗ ⃗⃗  ⃗ 
 

2)     pqpqp 43223  . 

 

Решение 

3(𝑝 + 2𝑞 ) − 2(3𝑝 − 𝑞 ) + 4𝑝 = 3𝑝 + 6𝑞 − 6𝑝 + 2𝑞 + 4𝑝 = 𝒑⃗⃗ + 𝟖𝒒⃗⃗  
 

2. Дан параллелепипед ABCDA1B1C1D1: 

 

 
 

1) найдите вектор 111 BDDABA  ;  

Решение 

𝐴1𝐵1
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ = 𝐴𝐵⃗⃗⃗⃗  ⃗  

𝐴1𝐵1
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ + 𝐷𝐴⃗⃗ ⃗⃗  ⃗ + 𝐵𝐷1

⃗⃗ ⃗⃗ ⃗⃗⃗⃗ = 𝐷𝐴⃗⃗ ⃗⃗  ⃗ + 𝐴𝐵⃗⃗⃗⃗  ⃗ + 𝐵𝐷1
⃗⃗ ⃗⃗ ⃗⃗⃗⃗ = 𝑫𝑫𝟏

⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ 
 

2) найдите вектор 111 CDBBBC  ; 

Решение 

𝐷1𝐶1
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ = 𝐷𝐶⃗⃗⃗⃗  ⃗ 

𝐵𝐶⃗⃗⃗⃗  ⃗ − 𝐵𝐵1
⃗⃗ ⃗⃗ ⃗⃗  ⃗ − 𝐷1𝐶1

⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ = 𝐵1𝐶⃗⃗⃗⃗ ⃗⃗  ⃗ − 𝐷𝐶⃗⃗⃗⃗  ⃗ = 𝐵1𝐶⃗⃗⃗⃗ ⃗⃗  ⃗ + 𝐶𝐷⃗⃗⃗⃗  ⃗ = 𝑩𝟏𝑫⃗⃗⃗⃗⃗⃗⃗⃗  ⃗ 
 

3) представьте вектор CB1  в виде разности двух векторов, один из которых – вектор 

1BB . 

Решение 

𝐵𝐶⃗⃗⃗⃗  ⃗ − 𝐵𝐵1
⃗⃗ ⃗⃗ ⃗⃗  ⃗ = 𝐵1𝐶⃗⃗⃗⃗ ⃗⃗  ⃗ 


